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2014/12/13 BROARERT 11:37  #8 TR 11:41
JEGZ  No. BFZ IRA #R-IEGE $v97 b o8k L £
1 4514 EE EBF AEAE 1-1 Din 52.54 0.00
2 4501 RNiE fERL KSC 1-2 = 52.76 0.22
3 4503 thHE#ERTE hiZiE 1-3 £ 52.81 0.27
4 4510 #RA DT #E)I 1-4 % 52.91 0.37
5 4509 #K {HE 215 1-5 & 53.22 0.68
6 4505  EiE % hiZiE 1-6 #* 54.48 1.94
7 4508 BEHE #K EPA3 2-1 = 59.64 7.10
8 4504 HE T hiZiE 2-2 Din 60.80 8.26
9 4502 FX HE HLITS 2-3 = 62.10 9.56
10 4516 #H ©¥E AiEAE 2-4 % 63.23 10.69
11 4515 K&K BhzxE AiEAE 2-5 £ 63.36 10.82
12 4511  &3R B4t B 2234 2-6 #*® 63.80 11.26
13 4507 &K fEf0 EPAS 1-7 = 64.19 11.65
14 4512 i§R #E Z2)Idt 2-7 &= 65.76 13.22
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